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1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0

Answers

1. 7,114

2. 13,668

3. 17,819

4. 13,258

5. 9,753

6. 11,019

7. 6,981

8. 11,867

9. 12,821

10. 7,260

11. 11,661

12. 4,513

13. 14,899

14. 12,700

15. 8,507

16. 10,367

17. 11,150

18. 12,537

19. 2,105

20. 9,352

Solve each problem.

1) 4,202 + 2,912 = 7,114

2) 8,739 + 4,929 = 13,668

3) 9,103 + 8,716 = 17,819

4) 7,874 + 5,384 = 13,258

5) 5,418 + 4,335 = 9,753

6) 8,121 + 2,898 = 11,019

7) 5,854 + 1,127 = 6,981

8) 7,897 + 3,970 = 11,867

9) 7,791 + 5,030 = 12,821

10) 5,462 + 1,798 = 7,260

11) 8,262 + 3,399 = 11,661

12) 2,786 + 1,727 = 4,513

13) 9,219 + 5,680 = 14,899

14) 7,938 + 4,762 = 12,700

15) 6,539 + 1,968 = 8,507

16) 8,836 + 1,531 = 10,367

17) 6,201 + 4,949 = 11,150

18) 7,311 + 5,226 = 12,537

19) 1,097 + 1,008 = 2,105

20) 7,964 + 1,388 = 9,352
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Modified

Solve each problem.

9,753 11,867 4,513 13,668

11,019 13,258 7,260 7,114

12,821 17,819 11,661 6,981

1) 4,202 + 2,912 = 7,114

2) 8,739 + 4,929 = 13,668

3) 9,103 + 8,716 = 17,819

4) 7,874 + 5,384 = 13,258

5) 5,418 + 4,335 = 9,753

6) 8,121 + 2,898 = 11,019

7) 5,854 + 1,127 = 6,981

8) 7,897 + 3,970 = 11,867

9) 7,791 + 5,030 = 12,821

10) 5,462 + 1,798 = 7,260

11) 8,262 + 3,399 = 11,661

12) 2,786 + 1,727 = 4,513

Answers

1. 7,114

2. 13,668

3. 17,819

4. 13,258

5. 9,753

6. 11,019

7. 6,981

8. 11,867

9. 12,821

10. 7,260

11. 11,661

12. 4,513

1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0
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